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Chapter 5: Bonds
Understanding Leverage
[image: ]Quick Recap: 
Why is it better for your business to issue bonds rather than equity?
	









Bonds & Leverage
A company has 2 main choices when looking to raise finance. What are they?
	






What is meant by leverage?
	






Scenario 1: Increase in Value of Business
	[image: ]
The value of a company is £100mn at the start of the year and this goes up to £120mn by the end of the year. 

The outcomes would depend on how the business is financed.

If the company is financed PURELY by equity, then this means ALL of the 20% gain will be for the shareholders. 

The share value will increase by 20% as shown in the diagram.




	[image: ]If the company is financed by $50mn debt and $50mn equity then:

The value of the equity would go up from $50mn to $70mn.

The debt amount would stay the same at $50mn.

Overall there is a 40% increase in equity.
(20/50 *100 = 40%)

The GAIN has been MAGNIFIED 




What if the borrowing had been even bigger? 
Assume that the Starting Value is still $100m and the Ending Value is $120mn.
Assess the impact on the shareholders but this time with:
a) 60% debt
b) 90% debt
	



















[bookmark: _GoBack]Scenario 2: Decrease in Value of Business
	[image: ]The value of a company is $100mn at the start of the year and this goes down to $90mn by the end of the year. 

The company was financed through $50mn Equity and $50 Debt.

The outcomes could be:

If the company is financed PURELY by equity, then this means ALL of the 10% loss will be felt by the shareholders. 

The share value will decrease by 10%




	[image: ]If the company is financed by £50mn debt and £50mn equity then:

The value of the equity would go down from £50mn to £40mn.

The debt amount would stay the same at £50mn.

Overall there is a 20% decrease in equity.
(10/50 *100 = 20%)

The LOSS has been MAGNIFIED











What if the borrowing had been even bigger? 
Assume that the Starting Value is still $100m and the Ending Value is $90mn.
Assess the impact on the shareholders but this time with:
a) 60% debt
b) 90% debt
	















CISI/FFS/BONDS/5/2016		

image3.png
71 Fundamentals of Financial Services Ed2.pdf - Adobe Reader

B L

(=)@

File_Edtt View Window Help

x

®) @) [ | @201130)

Do | 3RBE 6

L]

s < |

B ez |

Tools _ Fill &Sign | Comment

| B

Starting value  Ending value

However, what if, instead of being 100%
financed by equity at the start of the period,
Crazy Jet had been 50% funded by equity and
50% funded by debt? Let us assume that the
debt has not increased or decreased during the
year; at the end of the period $50 million is
still owed by Crazy Jet. However, all of the $20
million increase in value has been earned for
the owners of the business, the shareholders.

$120m 40%

increase
$100m j in the
fmmmmaa d value
of the.

equity

$50m $70m

$50m $50m

Starting value  Ending value

This means that the equity has grown from a
starting value of $50 million to an ending value
of $70 million. This is a 40% increase and will

Borrowing Had Been Even Bigger?
Part 1

Try to assess the impact on the shareholders of
Crazy Jet in the same situation, but this time
with:

(a) 60% debt
(b) 90% debt

The answers to this exercise can be found in
the appendix at the end of the chapter.

The impact of leverage is that, when a company
like the fictional Crazy Jet performs well, it
appears that the larger the proportion of the
financing that comes from debt, the better. The
larger the leverage, the more the gain to the
shareholders is magnified.

However, two particular things have an impact
on how much borrowing companies like Crazy
Jet have.

* How much lenders are willing to lend, and
how much they charge for that lending.
 The fact that, if the company does not
perform well, a larger proportion of

borrowing will have the opposite effect.

Expanding on the first point, providers of
debt finance, like banks and bond investors,
will consider the risks they face when making
their loans. Simplistically, the more a company
borrows, the greater the risks. As a result,
the proportion of debt cannot go beyond the
level that presents too large a risk for the
lenders to be willing to lend. Furthermore, as
the proportion of debt increases, the credit
rating assessment will fall, which will make
the borrowing more expensive, perhaps
prohibitively so.
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Clearly, if the business were 100% funded by
equity, the shareholders would have suffered a
10% fall in the value of their investment. The
shares were worth a combined $100 million,
now they are only worth $90 million.

What would have happened to the value of
their shares if the business had been 50%
funded by debt and 50% funded by equity?
Well, the leverage would have magnified the
loss for the shareholders. The business would
still owe $50 million in borrowing at the end of
the period, so the equity would be worth the

Starting value  Ending value

Exercise 8 - What if the
Borrowing Had Been Even Bigger?
Part 2

Try to assess the impact on the shareholders
of Crazy Jet in the same loss situation, but this
time with:

(a) 60% debt
(b) 90% debt

The answers to this exercise can be found in
the appendix at the end of the chapter.

In summary, financial leverage is the proportion
of a debt relative to the equity within a
business. The greater the proportion of debt,
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Clearly, if the business were 100% funded by
equity, the shareholders would have suffered a
10% fall in the value of their investment. The

shares were worth a combined $100 million,
now they are only worth $90 million.

What would have happened to the value of
their shares if the business had been 50%
funded by debt and 50% funded by equity?
Well, the leverage would have magnified the
loss for the shareholders. The business would

Starting value  Ending value

Exercise 8 - What if the
Borrowing Had Been Even Bigger?
Part 2

Try to assess the impact on the shareholders
of Crazy Jet in the same loss situation, but this
time with:

(a) 60% debt
(b) 90% debt

The answers to this exercise can be found in
the appendix at the end of the chapter.

In summary, financial leverage is the proportion
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However, what if, instead of being 100%
financed by equity at the start of the period,
Crazy Jet had been 50% funded by equity and
50% funded by debt? Let us assume that the
debt has not increased or decreased during the
year; at the end of the period $50 million is
still owed by Crazy Jet. However, all of the $20

be preferred by the shareholders to the 20%
increase they would eamn if Crazy Jet were
100% equity-financed.

This is the beneficial impact of leverage.
Leverage is the proportion of debt finance
‘compared to equity finance in the company.

Exercise 7 — What if the

Borrowing Had Been Even Bigger?
Part 1

Try to assess the impact on the shareholders of
Crazy Jet in the same situation, but this time
with:

(a) 60% debt
(b) 90% debt

The answers to this exercise can be found in
the appendix at the end of the chapter.

The impact of leverage is that, when a company
like the fictional Crazy Jet performs well, it
appears that the larger the proportion of the
financing that comes from debt, the better. The
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